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Cyn ropoXoBbId 2 30 66 20 10 10
Buserper oBOIIHOM 25 10 34 17 20 20 25
Yaii camxuit 15
[Xne6 =
Tleyenne 40
uroro Ha 1 uen 25,0 2,0 12,0 2,0 30,0 100,0 20,0 27,0 30,0 4,0 1,0 15,0 80,0 2,0 2,0 40,0 20,0 25,0
MTOrO K BHIIAYE 5,70 2,0 2,9 0,5 7,2 24,0 4.8 6,5 7,2 1,0 2,4 3,6 34,3 2,00 2,00 9,6 7,0 1,9
LIeHa 30,0 25,0 160,0 15,0 500,0 80,0 70,0 50,0 85,0 240,0 150,0 90,0 25,0 50,0 60,0 450,0 75,0 300,0
Ha CyMMy 171,0 50,0 460,8 7.2 3 600,0 1920,0 337,4 3240 612,0 230,4 360,0 324,0 857,1 100,0 120,0 4338,0 526,2 570,0
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